B A IESMEEYrKD-S60 V—>5—] 4% 100m & v k
. -| Jﬁ/f&sﬁ* HERPEEE1000mETH
FizxX KD-S60-100-4 ] 1" | wg@E##ShaEET
deer i = ﬂ'ﬁ ‘QH’L_ :":ﬁ%&**_t’b'*i
AERY) ESHMEE YIKD-S60Y—5—4B% 100mtyh| HAYOIEER
8% yg ! e it | bobimas| (& =
EHE EEybS-60Y-5— 1! 45,600 45,600 | 12v/\yT)—)—S5—8A4TF
7 —AREE 2R300mmftE 1= AEGE
I EELREADES)
VT ) —12V—34A-19L 1} 6,400 6,400 £ fifi £ @7400
!
| Za—RY T —4P
—a1—RJ 74 —4P400M 1] 6,600 6,600 200M @4200F9
I
|
#43HR—)L 38 P*2100mm 6= 2,400 14,400 a—F—HAYO
|
g R—ILE£8 24] 185 4,440
|
HS5ZE—JL10P x 2000mm(EE) 10] 600 6,000 10miEl @
|
G4Jy7° 100 40] 50 2,000
|
T—bNFIVE) 41 500 2000 | HAYBOIERT 4%
|
WAV 4 300 1,200
|
fEIR TR TR 21 400 800
| *TH 2 60Cm*40Cm*40Cm
| EE1F(I0KeIEE)
I * KT S AR—IL1 G
| (BEE15cmES2.1mESH
|
& & | 89,440
Ny —t Bty Mg (Bt A 4%) 93,912 (Fit:A{fi4&)
4E%5RY) KD-4E% (C-30.5-60) 100mEZEERtVE
% fh 44 #HeE | M | yrhEasEt i =
#faigAR—)L 38 D *2100mm 2: 2,400 4,800 J—F—HAYO
ipgAR—ILEE 8l 185 1,480
5S5RHR—)L10D X 2000mm(EE) 10: 600 6,000 10mEl f@
G %Yy7 109 40: 50 2,000
BEIER TR 2 400 800
:
& & I 15,080
(FaA fliFg) 15,834 (FiAflitg)
(BEEXAIEER)
*IND—FTIITAE—LL 1 A7 3y 3,800 -
(BEXAIEER) (T A %) 3,990 FuiA g
* TR JLIR LT AR—LL 1473y 8,800
(T 4%) 9,240 FitsA(M4&



